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Child Development & Pedagogy 
 

 

1. Which of the following crisis is faced in  

adolescence according to Erickson's theory 

of psychosocial development . 

(A) Integrity  vs.  Despair    

(B) Generativist vs. Stagnation 

(C) Intimacy vs Isolation    

(D) Identity vs. Role Confusion 

2. ............... means questions in question 

paper should be designed according to 

specific objective. 

(A) Objectivity (B) Validity 

(C) Reliablility (D) Standardization 

3. Which statement is not true regarding NCF 

guiding principles for curriculum 

development ? 

(A) Ensuring that learning shifts away 

from rote methods.    

(B) Enriching the curriculum so that it 

goes beyond textbooks. 

(C) Making examinations more complex. 

(D) Connecting Knowledge to life outside 

the school.    

4. ................was introduced under RTE Act 

2009 as a mandatory requirement upto 

Elementary stage. 

(A) Continuous and Comprehensive Eval-

uation.    

(B) Complete and Comprehensive Eval-

uation.    

(C) Comprehensive and Concluding 

Evaluation.     

(D)  None of these 

5. What kind of curriculum is adopted in 

progressive education ? 

(A) Interdisciplinary curriculum  

(B) Subject centered curriculum  

(C) Intradisciplinary curriculum   

(D) None of these. 

6. At which stage of development children 

become capable of seeing more than one 

potential solution to the same problem and 

think logically about the world around 

them ?  

(A) Sensori-motor stage    

(B) Formal-Operational stage 

(C) Concrete-Operational stage    

(D) Pre-Operational Stage 

 

Ckky fodkl ,oa f'k{kk 'kkL= 

1- ,fjdlu ds eukslkekftd fodkl ds fl)kUr ds 

vuqlkj fd'kksjkoLFkk esa fuEufyf[kr esa ls fdl 

ladV dk lkeuk djuk iM+rk gS\ 

(A) v[k.Mrk cuke fujk'kk    

(B) mRiknd cuke Bgjko 

(C) varjaxrk cuke vyxko    

(D) igpku cuke Hkwfedk Hkzkafr 

2- ----------------dk vFkZ gS fd iz'ui= esa iz'uksa dks 

fof'k"V mís'; ds vuqlkj rS;kj fd;k tkuk pkfg,A  

(A) oLrqfu"Brk  (B) oS/krk 

(C) fo'oluh;rk  (D) ekudhdj.k 

3- ikB~;Øe fodkl ds fy, NCF ds ekxZn'kZd 

fl)kUrksa ds laca/k esa dkSu lk dFku lgh ugha gS\ 

(A) ;g lqfuf'pr djuk fd lh[kuk jVus ds rjhdksa 

ls nwj gks tk,    

(B) ikB~;Øe dks le`) djuk rkfd ;g 

ikB~;iqLrdksa ls vkxs c<+s  

(C)  ijh{kkvksa dks vf/kd tfVy cukukA   

(D)  Ldwy ds ckgj ds thou ls Kku dks tksM+uk 

4- -------------dks izkjafHkd pj.k rd vkj-Vh-bZ 

vf/kfu;e 2009 ds rgr vfuok;Z vko';drk ds 

rgr vfuok;Z vko';drk ds :i esa izLrqr fd;k 

x;k FkkA 

(A) lrr ,oa O;kid ewY;kadu    

(B) iw.kZ ,oa O;kid ewY;kadu 

(C) O;kid ,oa lekiu ewY;kadu    

(D) buesa ls dksbZ ugha 

5- izxfr'khy f'k{kk esa fdl rjg dk ikB~;Øe viuk;k 

tkrk gS\ 

(A) varfoZ"k;d ikB~;Øe    

(B) fo"k; dsfUnzr ikB~;Øe 

(C) varjkfo"k; ikB~;Øe    

(D) buesa ls dksbZ ugha 

6- fodkl ds fdl pj.k esa cPps ,d gh leL;k ds 

,d ls vf/kd laHkkfor lek/kku ns[kus esa l{ke gks 

tkrs gSa vkSj rkfdZd :i ls vius vklikl dh 

nqfu;k ds ckjs esa lksprs gS\ 

(A) laosfnd is'kh; voLFkk    

(B) vewrZ lafØ;kRed voLFkk 

(C) ewrZ lafØ;kRed voLFkk    

(D) iwoZ& lafØ;kRed voLFkk 
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7. By whom the three level of moral 

development were identified ? 

(A) Skinner  (B) Kohlberg 

(C) Pavlov  (D) Erickson 

8. Which stage of developmet is called as 

'Exploratory stage'? 

(A) Early Childhood(B) Later Childhood 

(C) Infancy  (D) Adolescence 

9. According to Bingham, what does an 

aptitude test disclose ? 

(A) The tendencies and capacities inherent 

in the individual's original Behaviour. 

(B) The achievement in different disposi-

tions. 

(C) The readiness to acquire proficiency 

and exercise ability. 

(D) The strength of the different disposi-

tions. 

10. Which of the following is a social learning 

theorist ? 

(A) Bandura  (B) Freud 

(C) Wundt  (D) Pavlov 

11. The passive agencies of socialization are. 

(A) Peer group and family 
(B) Friends and neighbours 

(C) Public library and theatre   

(D) School and teacher 

12. Understanding the principles of develop-

ment of a child helps the teacher in. 

(A) Effectively catering to the different     

learning styles of learners.   

(B) ldentifying the social status of the 

learner. 

(C) Identifying the economic background 

of the learner    

(D) Rationalising why the learner ought to 

be taught  

13. According to Lev Vygotsky, ................is 

the most important tool that adults use to 

pass culturally valued thinking and 

problem- solving of their children. 

(A) Heredity  (B) Language 

(C) Perception (D) Skill. 

14. Heredity is a process through which the 

cells carry the physical and mental traits 

from.............. . 

(A) Parents  (B) Grand-parents 

(C) Ancestors (D) All of these 

7- uSfrd fodkl ds rhu Lrjksa dh igpku fdlds }kjk 

dh xbZ \ 

(A) fLduj  (B) dksg~ycxZ 

(C) ikoykso  (D) ,fjdlu 

8- fodkl ds fdl pj.k dks ^vuqla/kku@leUos'kh pj.k* 

dgk tkrk gS\ 

(A) izkjfEHkd ckY;koLFkk(B) ckY;koLFkk ds i'pkr~ 

(C) 'kS'kokoLFkk  (D) fd'kksjkoLFkk 

9- fca|e ds vuqlkj] vfHko`fÙk ijh{k.k ls D;k irk 

pyrk gS\ 

(A) O;fDr ds ewy LoHkko esa fufgr {kerk,¡ vkSj   

   izo`fÙk;k¡     

(B) fofHkUu vkuqokaf'kd ;ksX;rk esa miyfC/k 

(C) izoh.krk vkSj vH;kl djus dh rRijrk  

(D) fofHkUu vkuqokaf'kd ;ksX;rk dk lkeF;Z 

10- fuEufyf[kr esa ls dkSu ,d lkekftd&f'k{kk 

fl)kUroknh gSa\ 

(A) caMwjk   (B) Ýk;M 

(C) oq.V   (D) ikoykso 

11- lekthdj.k dh fuf"Ø; ,tsafl;ka gSa 

(A) lgdehZ lewg vkSj ifjokj    

(B) fe= vkSj iM+kslh 

(C) lkoZtfud iqLrdky; vkSj fFk,Vj   

(D) Ldwy vkSj f'k{kd 

12- cPps ds fodkl ds fl)karksa dks le>uk fuEufyf[kr 

esa ls fdlesa f'k{kd dh enn djrk gS\ 

(A) f'k{kkfFkZ;ksa dh fofHkUu f'k{k.k 'kSfy;ksa dks izHkkoh 

    <ax ls iwjk djus esa    

(B) f'k{kkFkhZ dh lkekftd fLFkfr dh igpku djus esa  

(C) f'k{kkFkhZ dh vkfFkZd i`"BHkwfe dh igpku djus esa  

(D) rdZlaxr crkuk fd f'k{kkFkhZ dks D;ksa i<+k;k       

   tkuk pkfg,A 

13- yso ok;xksRLdh ds vuqlkj]-----------lcls egRoiw.kZ 

lk/ku gS ftldk mi;ksx o;Ld yksx lkaLd`frd :i 

ls ewY;oku fparu vkSj vius cPpksa dh leL;k dks 

lqy>kus esa djrs gSaA 

(A) vkuqoaf'kdrk  (B) Hkk"kk 

(C) /kkj.kk  (D) dkS'ky 

14- vkuqoaf'kdrk ,d izfØ;k gS ftlds ek/;e ls 

dksf'kdk,a 'kkjhfjd vkSj ekufld y{k.kksa dks --------

ls xzg.k djrh gS& 

(A) ekrk&firk  (B) nknk&nknh 

(C) iwoZt   (D) ;s lHkh 
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15. To enable students to learn social skills, 

a teacher should. 

(A) Maintain discipline in class   

(B) Encourage students to interact with 

peers  

(C) Help students to learn question 

answers    

(D) Not be flexible 

16. In which of the following disorder fine 

and gross motor skills are affected ? 

(A) Dyscalculia (B) Dysphasia 

(C) Dyslexia  (D) Dyspraxia 

17. Which of the following is not an 

example of a development disorder ? 

(A) Intellectual disability    

(B) Autism 

(C) Dyslexia  (D) A D H D 

18. The concept of 'Inclusive Education' as 

advocated in the Right to Education 

Act, 2009 is based on. 

(A) the behaviouristic principles   

(B) a sympathetic attitude towards 

disabled children. 

(C) a right – based humanistic perspec- 

tive    

(D) mainstreaming of the disabled 

children by offering them primari-

ly vocational education. 

19. Maladjusted children are generally seen 

in. 

(A) Broken family(B) Rural areas 

(C) None of these (D) Poor family 

20. Which of the fallowing is not a charact-

eristic of creativity ? 

(A) Flexibility (B) Elaboration 

(C) Generalization (D) Fluency 

21. Which of the following statement is 

correct about secondary emotions ? 

(A) Secondary emotions are the same 

as primary emotions   

(B) The secondary emotions are emoti-

onal reactions that we have for 

other emotions. 

(C) Secondary emotions are not present 

in every individual    

(D) Both A and B 

15- ,d f'k{kd dks lkekftd dkS'ky lh[kus ds fy, 

Nk=ksa dks l{ke djuk pkfg,% 

(A) d{kk esa vuq'kklu cuk, j[kus gsrq   

(B) Nk=ksa dks lgifB;ksa ds lkFk ckrphr djus ds 

   fy, izksRlkfgr djus gsrq 

(C) Nk=ksa dks iz'u mÙkj tkuus esa enn djus gsrq 

(D) uE; ugha gksuk pkfg, 

16- fuEufyf[kr esa ls dkSu&lk fodkj mRd`"V ,oa 

ldy is'kh; dkS'ky dks izHkkfor djrs gSa\ 

(A) fMLdsydqfy;k (B) fMLQsT;k 

(C) fMLysfDl;k  (D) fMLizSfDl;k 

17- fuEufyf[kr esa ls dkSu ,d fodkl laca/kh fodkj 

dk mnkgj.k ugha gS\ 

(A) ckSf)d fodykaxrk (B) Loyhurk 

(C) fMLysfDl;k  (D) ,-Mh-,p-Mh- 

18- f'k{kk dk vf/kdkj vf/kfu;e] 2009 esa mYys[k 

dh xbZ ^lekos'kh f'k{kk* dh vo/kkj.kk 

fuEufyf[kr esa ls fdl ij vk/kkfjr gS\ 

(A)   O;ogkjoknh fl)kUr    

(B) v'kDr cPpksa ds izfr ,d lgkuqHkwfrd 

vfHko`fÙk 

(C)   vf/kdkj&vk/kkfjr ekuorkoknh ifjizs{;  

(D) eq[;r% O;kolkf;d f'k{kk miyC/k djk djds 

v'kDr cPpksa dks eq[;/kkjk esa 'kkfey djuk 

19- lkekU;r% dqlek;ksftr cPps ;gk¡ ns[ks tkrs gSa% 

(A) fc[kjs ifjokj esa (B) xzkeh.k {ks=ksa esa 

(C) xjhc ifjokj esa  (D) buesa ls dksbZ ugha 

20- fuEufyf[kr esa ls dkSu&lk jpukRedrk dh 

fo'ks"krk ugha gS\ 

(A) uE;rk  (B) foo/kZu 

(C) lkekU;hdj.k  (D) okDiVqrk 

21- fuEu esa ls dkSu&lk dFku ek/;fed Hkkoukvksa ds 

lanHkZ esa lgh gS\ 

(A) ek/;fed Hkkouk,a izkFkfed Hkkoukvksa ds 

leku gksrh gSa    

(B) ek/;fed Hkkouk,a HkkoukRed izfrfØ;k,a gSa 

tks gesa vU; Hkkoukvksa ds fy, gksrh gSA 

(C) izR;sd O;fDr esa ek/;fed Hkkouk,a ekStwn 

ugha gSa    

(D) A vkSj B  
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22. What is incidental learning ? 

(A) Learning through incidents   

(B) Unintentional learning 

(C) Planned learning    

(D) Learning outside the classroom. 

23. Failure in retention and recall of learnt 

content is - 

(A) Forgetting (B) memory 

(C) retention  (D) thinking  

24. Learning that takes place away from a 

structured classroom environment is 

known as. 

(A) Formal learning    

(B) Informal learning 

(C) Programmed learning    

(D) Learning by doing 

25. Which of the following thinking is 

known as out-of-box thinking ? 

(A) Convergent thinking    

(B) Perceptual thinking 

(C) Divergent thinking    

(D) Conceptual thinking 

26. Who advocated the tri-polar process of 

education ? 

(A) John Adam (B) Comenius 

(C) John Dewey (D) Herbert 

27. According to which theory 

development is the product of congnit-

ion, as illustrated by observational 

learning and human agency ? 

(A) Social cognitive theory   

(B) Cognitive development theory 

(C) Psychoanalytic theory   

(D) Skinner's behavioral theory 

28. A child works hard to get the 

scholarship for his higher studies .The 

child is said to be motivated - 

(A) Individually (B) Extrinsically 

(C) Intrinsically (D) Experimentally 

29. How many domains are there in Bloom 

taxonomy ? 

(A) Two (B) Three  (C) Four  (D) Five 

30. Which educationalist has introduced the 

concept of Micro teaching ? 

(A) W. Allen (B) Kilpatrick 

(C) Morrison (D) Amidson 

22- vkdfLed f'k{kk D;k gS\ 

(A) ?kVukvksa ds ek/;e ls lh[kuk   

(B) vfpUR; vf/kxe 

(C) fu/kkZfjr vf/kxe    

(D) d{kk ds ckgj lh[kuk 

23- lh[kh xbZ ckr dks /kkj.k djus vkSj iqu% Lej.k 

djus esa vlQy gksuk& 

(A) foLej.k gS  (B) Lej.k gS 

(C) /kkj.k gS  (D) fpUru gS 

24- ,d lajfpr d{kk ds okrkoj.k ls nwj gksus okyh 

f'k{kk dks fuEu ds :i esa tkuk tkrk gS% 

(A) vkSipkfjd f'k{kk (B) vukSipkfjd f'k{kk 

(C) ;kstukc) f'k{kk (D) djds lh[kuk 

25- fuEufyf[kr esa ls dkSu&lk fparu vyx lksp ds 

:i esa tkuk tkrk gS\ 

(A) vfHkl`r fparu (B) vo/kkj.kkRed fparu 

(C) vilkjh fparu (D) oSpkfjd fparu 

26- f'k{kk dh f=&/kqzoh; izfØ;k dk leFkZu fdlus 

fd;k\ 

(A) tkWu ,Me  (B) desfu;l 

(C) thu Mhoh  (D) gcZVZ 

27- fdl fl)kUr ds vuqlkj] fodkl vuqHkwfr dk 

mRikn gS] tSlk fd voyksdu f'k{k.k vkSj ekuo 

lk/ku }kjk lfp= gS\ 

(A) lkekftd laKkukRed fl)kUr   

(B) laKkukRed fodkl fl)kUr 

(C) euksfo'ys"k.kkRed fl)kUr    

(D) fLduj dk O;ogkj fl)kUr 

28- ,d cPpk vius mPp v/;;u ds fy, Nk=o`fÙk 

izkIr djus gsrq dM+h esgur djrk gSA cPps dks 

fdl izdkj ls izsfjr dgk tk ldrk gS\ 

(A) O;fDrxr :i ls  (B) ckg~;orhZ :i ls 

(C) vkarfjd :i ls (D) vuqHkwfriwoZd 

29- Cywe oxhZdj.k esa fdrus {ks= gSa\ 

(A) nks   (B) rhu 

(C) pkj   (D) ik¡p 

30- lw{e f'k{k.k dh vo/kkj.kk dks fdl f'k{kk'kkL=h 

}kjk izLrqr fd;k x;k gS\ 

(A) MCY;w- ,yu  (B) fdyiSfVªd 

(C) ekWfjlu  (D) ,feMu 
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Hkk"kk – I fgUnh 

funsZ'k & ¼iz'u 31&39 rd½ % uhps fn, x, x|ka'k 

dks i<+dj lcls mfpr fodYi dk p;u dhft,& 

 

x|ka'k 

 

 lekt esa ikB'kkykvksa] Ldwyksa vFkok f'k{kk dh 

nwljh nqdkuksa dh dksbZ deh ughaA NksVs&ls&NksVs cPps 

dks ek¡&cki Ldwy Hkstus dh tYnh djrs gSaA nks&<kbZ 

lky ds cPps dks Hkh Ldwy esa fcBkdj vk tkus dk 

vkxzg Hkh gj ?kj esa cuk gqvk gSA 

 blds foijhr gj ?kj dh nwljh lPpkbZ ;g 

Hkh gS fd dksbZ Hkh ek¡&cki ckydksa ds ckjs esa] ckydksa 

dh lgh f'k{kk ds ckjs esa vkSj lkFk gh lPpk ,oa 

vPNk ekrk&firk vFkok vfHkHkkod gksus dk f'k{k.k 

dgha ls Hkh izkIr ugha djrkA ekrk&firk cuus ls 

igys fdlh Hkh ukStoku tksM+s dks ;g ugha fl[kk;k 

tkrk gS fd ek¡&cki cuus dk vFkZ D;k gS\ blls 

igys fdlh Hkh tksM+s dks ;g Hkh ugha fl[kk;k tkrk 

fd vPNs vkSj lPps nkEiR; dh 'kq:vkr dSls dh 

tkuh pkfg,\ ifr&iRuh gksus dk vFkZ D;k gS \ ;g 

Hkh dksbZ ugha crkrkA ifj.kke lkQ gS fd thou 'kq: 

gksus ls igys gh ?kj VwVus&fc[kjus yxrs gSaA ?kj 

clkus dh 'kkyk u vkt rd dgha [kqyh gS vkSj u 

[kqyrh fn[krh gSA lekt vkSj lÙkk nksuksa ;k rks bl 

ladV ds izfr ltx ugha gS ;k fQj bls vuns[kk dj 

jgs gSaA 

31- ys[kd ds fy, fdldk f'k{k.k izkIr djuk 

t:jh gS\ 

(A) cPpksa dks fdlh Hkh izdkj dh f'k{kk nsus dk  

(B) vPNs ekrk&firk cuus dk  

(C) NksVs&NksVs cPpksa dks mPp fo|ky;ksa esa izos'k 

fnykus dk    

(D) ifr&iRuh cuus dk   

32- ekrk&firk dks cPpksa dh lgh f'k{kk ds ckjs esa 

tkuuk D;ksa t:jh gS\  

(A) rkfd cPpksa dks mPp fMfxz;k¡ izkIr djokbZ 

tk ldsaA    

(B) rkfd cPps Lo;a izos'k ysus ;ksX; cu ldsaA  

(C) ftlls csgrj lekt dk fuekZ.k fd;k tk 

lds    

(D) cPpksa dks Kkuoku cuk;k tk lds   

33- lekt vkSj lÙkk fdlds izfr ltx ugha gS\ 

(A) Kkuoku~ lekt u cu ikus ds ?kksj ladV 

ds izfr    

(B) ?kj clkus dh f'k{kk nsus okyh 'kkyk [kksyus 

ds izfr  

(C) ekrk&firk }kjk cPpksa dk ikyu&iks"k.k u 

djus ds izfr    

(D) vfHkHkkodksa ds }kjk f'k{kk izkIr us djus ds 

izfr  

34- ys[kd ds vuqlkj] lcls igys D;k tkuuk 

t:jh gS\ 

(A) cPpksa ds ckjs esa    

(B) cPpksa dh f'k{kk ds ckjs esa  

(C) ekrk&firk ds f'k{kk&Lrj dks    

(D) nkEiR; dh 'kq:vkr dSls dh tkuh pkfg,  

35- ^ekrk&firk* 'kCn ;qXe gS& 

(A) lkFkZd 'kCn&;qXe (B) fujFkZd 'kCn&;qXe  

(C) iqu#Dr 'kCn&;qXe  

(D) lkFkZd&fujFkZd 'kCn&;qXe  

36- ^Hkh* 'kCn gS& 

(A) fØ;k&fo'ks"k.k (B) lEcU/kokpd  

(C) fuikr  (D) fØ;k  

37- ^blds foijhr gj ?kj dh nwljh lPpkbZ ;g Hkh 

gS fd-----------* okD; ds js[kkafdr Nis va'k 

dk lekukFkhZ 'kCn gSA 

(A) okLrfod  (B) okLrfodrk  

(C) ln~opu  (D) lwfDr  

38- ?kj ds VwVus&fc[kjus dk eq[; dkj.k D;k gS\ 

(A) ekrk&firk cuus dk vFkZ u tkuuk   

(B) nkEiR; dk vFkZ u tkuuk  

(C) ?kj clkus dh tYnh djuk    

(D) cPpksa ds ckjs esa u tkuuk  

39- gj ?kj esa fdl pht dk vkxzg cuk gqvk gS\ 

(A) cgqr NksVs cPps dks Ldwy esa i<+kus dk  

(B) cgqr NksVs cPps dks nqdku Hkstus dk  

(C) cgqr NksVs cPps dks Ldwy esa fcBkdj vkus 

dk    

(D) cPpksa dks Ldwy u Hkstus dk  
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 funsZ'k&¼iz'u 40&45½% dfork dks i<+dj 

vxzfyf[kr iz'uksa esa lcls mfpr fodYi pqfu,& 
 

dfork 

  

 tc ugha Fkk 

 bUlku 

 /kjrh ij Fks taxy 

 bUgha lcds chp mrjk 

 bUlku 

 vkSj ?kVus yxs taxy 

 taxyh tkuoj] ifjans 

 bUlku 

 c<+us yxk csrgk'kk 

 vc dgk¡ tkrs taxy 

 taxyh tkuoj] ifjans 

 izd`fr fdlh ds lkFk 

 ugha djrh ukbUlkQh 

 lHkh ds fy, cukrh gS txg 

 lks vc 

 bUlkuksa ds Hkhrj mrjus yxs gSa 

 taxy] taxyh tkuoj  

 vkSj ifjans 

40- /kjrh ij bUlku ds vkus ds ckn D;k gqvk \ 

(A) tkuoj ?kVus yxs (B) i{kh ?kVus yxs  

(C) taxy ?kVus yxs (D) ;s lHkh  

41- ^bUlku c<+us yxk csrgk'kk* dk Hkko gS& 

(A) bUlku vius iSjksa ij pyus yxk   

(B) bUlku [kwc rjDdh djus yxk  

(C) bUlku [kwc rst Hkkxus yxk    

(D) bUlku [kwc cM+k gksus yxk  

42- izd`fr fdlds izfr ukbalkQh ugha djrh \ 

(A) i'kq&if{k;ksa ds izfr (B) bUlkuksa ds izfr  

(C) taxy ds izfr (D) bu lHkh ds izfr  

43- dfork ds var esa D;k O;aX; fd;k x;k gS\ 

(A) bUlkuksa us taxy mxkuk 'kq: dj fn;k gS  

(B) izd`fr us bUlkuksa ds izfr ukbalkQh dh   

(C) bUlkuksa esa vc balkfu;r [kRe gks xbZ gS  

(D) bUlkuksa ds Hkhrj taxy dh rjg isM+ mx 

vk, gSa  

44- ^vc dgk¡ tkrs taxy* dk Hkko gS fd & 

(A) vc taxyksa esa ifjans ugha jgrs   

(B) vc taxy dgha tkus yk;d ugha jgs  

(C) vc taxy [kwc i<+us yxs    

(D) vc taxy lekIr gksus yxs  

45- ^taxy* dk i;kZ;okph ugha gS& 

(A) vj.;  (B) cxhpk  

(C) ou   (D) dkuu  

46- izkFkfed Lrj ij Hkk"kk lh[kus&fl[kkus esa lcls 

de egRoiw.kZ gS& 

(A) Hkkf"kd ifjos'k dh miyC/krk   

(B) ekr`Hkk"kk dk lgk;d iz;ksx  

(C) le`) ikB~;iqLrd (D) ijLij ckrphr  

47- VsifjdkWMZj dk iz;ksx ,d& 

(A) n`';&JO; lgk;d lkexzh ds :i esa fd;k 

tkrk gSA    

(B) JO; lgk;d lkexzh ds :i esa fd;k tkrk 

gSA  

(C) ek= n`'; lgk;d lkexzh ds :i esa fd;k 

tkrk gSA     

(D) mijksDr esa ls dksbZ ughaA  

48- lqeu cpiu ls gh xqtjkrh cksy&le> ysrh gSA 

og dHkh fo|ky; ugha tkrh ;g mnkgj.k gS& 

(A) lqeu dh izfrHkk dk (B) Hkk"kk lh[kus dk  

(C) Hkk"kk esa uohurk dk (D) Hkk"kk&vtZu dk  

49- dkC;ksa ds lkSan;Z i{k dk eq[; mís'; D;k gksrk 

gS\ 

(A) ikBdksa dks vkuUn dh vuqHkwfr djkuk   

(B) f'k{k.k esa Kku vkSj vkuUn dk lgh 

leUo;  

(C) Hkko fo'ys"k.k {kerk dk fodkl   

(D) Hkk"kk dh ckjhfd;ksa dks le> ysuk  

50- Hkk"kk dk izkFkfed :i ewyr%----------gksrk gSA 

(A) lkadsfrd  (B) O;kdjf.kd  

(C) fyf[kr  (D) ekSf[kd  

51- fuEufyf[kr esa ls dkSu&lk ys[ku vH;kl gS\ 

(A) lqys[k  (B) vuqys[k  

(C) Jqrys[k  (D) ;s lHkh  

52- d{kk 8 ds cPpksa ds fy, lkfgR; dk p;u 

djrs le; vkids fy, D;k tkuuk lokZf/kd 

t:jh gS\ 
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(A) cPpksa dh Hkkf"kd i`"BHkwfe    

(B) cPpksa dh euksoSKkfud fo'ks"krk,a vkSj Hkk"kk 

iz;ksx dh {kerk  

(C) vPNs lkfgR; ds izdkj] laokn o ys[ku  

(D) cPpksa ds Hkk"kk iz;ksx dk Lrj  

53- Jo.k dkS'ky ds ek/;e ls vf/kxe dks lkFkZd 

djus dh fuEufyf[kr esa ls dkSu&lh izfØ;k,a 

gSa\ 

(A) ekufld Lrj dk fodkl   

(B) mfpr f'k{k.k   

(C) fparu euu djuk (D) mijksDr lHkh  

54- de lquus okys ;k Å¡pk lquus okys Nk=ksa ds 

fy, fuEufyf[kr esa ls D;k ykHkizn gS\ 

(A) d{kk f'k{k.k  (B) lg'kSf{kd fØ;k  

(C) d{ksÙkj fØ;kdyki (D) mijksDr lHkh  

55- n`f"Vckf/kr cPpksa dks Hkk"kk fl[kkrs le;& 

(A) vf/kd ls vf/kd ekSf[kd Hkk"kk dk iz;ksx 

djuk pkfg,    

(B) mUgsa d{kk esa vyx cSBkuk pkfg, rkfd mu 

ij fo'ks"k /;ku fn;k tk ldsA  

(C) mUgsa fofHkUu Hkkf"kd xfrfof/k;ksa esa 'kkfey 

ugha djuk pkfg,A     

(D) de ikBksa okyh ikB~;iqLrd dk fuekZ.k 

fd;k tkuk pkfg,A  

56- ,d lekos'kh d{kk esa cPps vf/kdrj xyfr;k¡ 

djrs gSaA 

(A) i<+us esa  (B) fy[kus esa  

(C) cksyus esa  (D) bu lHkh esa  

57- dkSu&lk f'k{k.k lk/ku JO; lk/ku ugha gS\ 

(A) xzkeksQksu  (B) VsifjdkWMZj  

(C) fp= foLrkjd (D) jsfM;ks  

58- laKku ds Lrj ij fodflr----------vU; 

Hkk"kkvksa esa vklkuh ls vuqfnr gksrh jgrh gSA 

(A) O;kdj.k {kerk (B) rdZ {kerk  

(C) Hkk"kk {kerk  (D) Kku {kerk  

59- ekWUVsljh cPpksa dh fu;fer Hkk"kk f'k{kk fdl 

vk;q ij 'kq: djus ds i{k esa Fkh \ 

(A) tUe ds dqN fnu ckn    

(B) 3 o"kZ dh vk;q iwjh djus ij  

(C) 4 o"kZ dh vk;q ds ckn    

 (D) 5 o"kZ dh vk;q ds ckn  

60- Hkk"kk ds :i dh lkFkZd ,oa 'kq) O;oLFkk D;k 

dgykrh gS\ 

(A) O;kdj.k  (B) okpu  

(C) Jqfrys[ku  (D) ys[ku  
 

Language 2 (English) 
Directions – (Q.61 to 69) : Read  the 

passage given below and answer the 

questions that follow by selecting the most 

appropriate option. 
 

PASSAGE 
 

 Anaesthesia in any part of the body 

means a loss of sensation, either permanent 

or temporary. The term is usually used to 

describe the artificially produced loss of 

sensation which makes a surgical operation 

painless. 

 There are four main types of anaesth-

esia: general, Spinal, regional and local. 

Anaesthetics may be given as gases, by 

inhalation;  or as drugs injected into a vein. 

A patient given general anaesthesia loses 

consciousness. Anaesthesia of a fairly large 

area of the body results from injecting the 

anaesthetic drug into the spinal canal: all 

that portion of the body below the level at 

which the drug is injected is anaesthetized. 

Regional anaesthesia is the injecting of the 

nerves as they emerge from the spinal 

column: the anaesthesia induced by this 

method affects only that area of the body 

supplied by those nerves. In local 

anaesthesia, the drug is injected directly at 

the site of the operative incision and 

sometimes also into the nearby surrounding 

tissues. 

 Formerly the most commonly used 

local anaesthetic was cocaine, a drug 

extracted from the leaves of the coca bush 

and introduced n 1879. But cocaine has 

some disadvantages and, sometimes,  

undesirable side-effects. For spinal, regional 

and local anaesthesia, procaine,  or one of 
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the several modifications of procaine, is now 

widely used instead of cocaine. For very 

limited and short operations, such as 

opening a small abscess, local anaesthesia 

may be induced by spraying (rather than 

injecting) a chemical, ethylchloride, on a 

small area of the skin; in changing from the 

liquid to the gaseous state, this drug freezes 

the area sprayed, and permits painless 

incision. 

61. When a part of the body is anaesthe-

tised... 

(A) the body loses its consciousness  

(B) the part gets excited 

(C) that part loses the ability to feel 

any pain    

(D) the nearby organ loses its function 

permanently 

62. The real purpose of using anaes 

thetics is- 

(A) to perform operations without 

causing pain    

(B) to artificially produce loss of 

sensation 

(C) to cure patients of diseases   

(D) to make patients unconscious  

63. An anaesthetic is inhaled when it is 

administered - 

(A) as a gas  (B) as a spray 

(C) as a drug (D) by injection 

64. When a gas is used as an anaesthetic, 

the anaesthesia is - 

(A) local  (B) regional 

(C) general  (D) spinal 
65. Spinal anaesthesia is resorted to when - 

(A) the operation involves a big area 

of the body    

(B) a drug has to be injected into the 

vein 

(C) a patient has to be made 

unconscious.    

(D) a small area has to be 

anaesthetised. 

66. The expression 'the site of the operat-

ive incision' means - 

(A) the spot at which the anaesthetic 

has to be injected    

(B) the area of the body supplied by 

specific nerves 

(C) all the surrounding tissues   

(D) the place at which a cut is to be 

made 

67. An 'abscess' is - 

(A) a collection of poisnous matter in 

a hole in the body    

(B) an open wound requiring surgery  

(C) a deep hole    

(D) an operative incision 

68. The word opposite in meaning to the 

word 'formerly' is - 

(A) later  (B) significant 

(C) industrially (D) fortunately 

69. 'Anaesthetic' is - 

(A) an adverb (B) a noun 

(C) a verb  (D) an adjective 
 

Directions – (Q.70 to 75) : Read the given 

passage and answer the questions by 

selecting the most appropriate option – 
 

PASSAGE 
 A man found a cocoon of a butterfly. 

One day a small opening appeared. He sat 

and  watched the butterfly for several hours 

as it struggled to force its body through that 

little hole. Then it seemed to stop making 

any progress. It appeared as if it had gotten 

as far as it could, and it could go no further. 

So the man decided to help the butterfly, He 

took a pair of scissors and snipped off  the 

remaining bit of the cocoon. The butterfly 

then emerged easily. But it had a swollen 

body and small, shriveled wings. The man 

continued to watch the butterfly because he' 

expected that, at any moment, the wings 

would enlarge  and  expand to be able to 

support the body, which would contract in 

time. 

 Neither happened! In fact, the butter-

fly spent the rest of its life crawling around 

with a swollen body and shriveled wings. It 

never was able to fly. What the man, in his 
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kindness and haste, did-not understand was 

that the restricting cocoon and the struggle 

required for the butterfly to get through the 

tiny opening were God's way of forcing 

fluid from the body of the butterfly into its 

wings so that it would be ready for flight 

once it achieved its freedom from the 

cocoon.  

70. The man's first instinct was - 

(A) Leave the cocoon alone   

(B) help the butterfly 

(C) Leave the butterfly alone   

(D) Keep watching 

71. The natural process would have the 

wings of the butterfly - 

(A) Unfold and stretch out   

(B) fold up and remain snug 
(C) half open and snug against the body  
(D) unfold and remain stiff 

72. A word that means 'to make or 

become withered' is- 

(A) moistened (B) folded 

(C) wasted  (D) shrivelled 

73. The writer's message in his/her essay 

is about - 

(A) not to have any problems   

(B) need for struggles in life 

(C) escape pain at any     

(D) needless struggles in life  

74. The essay is............ in form. 

(A) factual  (B) descrptive 

(C) discursive (D) argumentative 

75. A man noticed that the...................... 

(A) butterfly was hidden    

(B) cocoon was growing 

(C) cocoon was moving     

(D) butterfly was emerging 

76. Consider the following statements . 

(i) A good language teacher is not 

only proficient in her/his subject but 

is also professionally aware about the 

subject.    

(ii) A language teacher cannot afford 

to be patient with the student and 

must ensure timely completion all 

stages of language learning. Which of 

the above statements is/are correct ? 
(A) only (i)  (B) only (ii) 

(C) Both (i) and (ii) (D) Neither (i) or (ii) 

77. Learning disability in motar skills is 

called- 

(A) Dyspraxia (B) Dyscalculia 

(C) Dyslexia  (D) Dysphasia 

78. Which of these is not a quality of 

effective teaching ? 

(A) Using only blackboard to teach.  

(B) Giving effective feedback to the 

students. 

(C) Giving concrete and real life 

examples.    

(D) Self-reflection on teaching strate-

gies. 

79. Which of the following is an aim of 

CCE ? 

(A) Minimize stress of students   

(B) Enhance Skills of learners. 

(C) Both A and B    

(D) Neither A nor B 

80. Rachna, an English teacher wants her 

students to learn how to write a good 

paragraph in English. What does 

writing a good paragraph on a topic 

involve ? 

(A) Clear ideas, presentation and con-

sistency of thought.    

(B) Extensive vocabulary 

(C) Correct punctuation and tense.  

(D) A readable and flowery handwri-

ting. 

81. Neha is discussing the annual day 

function with the Principal. Identify 

the type of speaking of the given 

statement. 

(A) Formal  (B) Informal 

(C) Partially interactive    

(D) Non-interactive 

82. Which of the following is incorrect 

about social language ? 

(A) It is learnt in school    

(B) It is acquired through society  
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(C) It can be same as our mother 

tongue.    

(D) We connect with our neighbours 

using social language. 

83. In which of the following stages of 

language learning process, learned sk-

ills are applied in real life situations ?  

(A) Maintenance stage    

(B) Fluency stage 

(C) Generalization Stage  

(D) Adaptation stage  

84. Which of the following method 

emphasizes on individual and group 

needs and is not based on generalised 

language content ? 

(A) community Language learning  

(B) communicative language teaching 

(C) Reading method    

(D) None of the above 

85. Learning aids are materials which 

(A) Replace the teacher in a classro-

om.    

(B) Confuse the learners about a parti-

cular concept. 

(C) Make the students fight among 

themselves.    

(D) Facilitate learning by guiding the 

learners towards understanding 

of the concepts. 
86. Good writing skills can be improved by - 

(A) Making them practice writing in 

their own words     

(B) Making them copy passages 

(C) dictating to them    

(D) Making them learn printed articles 

and writing them. 

87. The students make mistakes while 

playing a grammar game. The teacher 

should - 

(A) quietly note down the mistakes and 

discuss them with the class after the 

activity.    

(B) Call aside erring  student and offer 

some guidance  

(C) call aside the student incharge in the 

group and instruct him/her to guide 

the student.    

 (D) Quietly note down the mistakes and 

hold a remedial class for the 'erring' 

students . 

88. Student A and Student B ask and 

answer questions to complete a 

worksheet. This is - 

(A) A controlled interview    

(B) An information transfer activity 

(C) a role play    

(D) an information gap activity 

89. The main purpose of assessment is..... 

(A) to give practice in writing.   

(B) to improve the teaching learning 

process. 

(C) to decide pass and fail    

(D) to measure achievement of 

learners 

90. Multilingualism can be described as. 

(A) a person speaking more than one 

language.    

(B) a community of speakers where 

use of more than one language is 

common. 

(C) a student pursuing masters in 

more than one language.  

  

(D) Both A and B 
 

laLd`r 

funZs’k&¼iz’u 61 ls 68 rd½ fuEufyf[kr x|ka’k ifBRok 

v/kksfyf[krkuka iz’ukuke~ mRrjkf.k nnkrq& 

 1948 bZloh;s lEoRljs vkaXykuke~ vfUre% 

izfrfuf/k% ^ykWMZ ekm.V cSVu%* pØofrZua 

Jhjktxksikykpk;Ze~ vkaXylezkt% izfrfuf/k:is.k laLFkkI; 

Lons’ka izfrfuo`fRr% 1950 bZloh;s lEoRljs lafo/kkuL; 

fuekZ.kkdk;sZ ifjlekIrs Hkkjra iw.kZ:is.k LorU=a tkre~A Jh 

jktsUnzizlkn% HkkjrL; izFkeksa jk"Vªifr% fuokZfpr% Jh 

tokgjyky usg:% p iz/kkueU=hA vkaXykuka LFkkus"kq loZ= 

Hkkjrh;k vf/kdkfj.k% laLFkkfirk%A 

   LorU=s Hkkjrs u`ik.kka jkT;kuka p leL;k furjka 

tfVyk vklhr~A HkkjrL; egh;ku~ HkwHkkxks jkT;s"kq fodh.kZ% 

¼foHkDr%½ vklhr~A jkT;kuka la[;k vfi "kV~’krd&ifjferk 

¼600½ vHkor~A JhoYyHkHkkbZ & iVsy & egksn;L; 
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HkxhjFk&iz;Rusu uhfrpkrq;sZ.k p losZ u`ik% Hkkjrs 

lfEefyrk% vHkou~A leLea Hkkjra v"Vkfo’kfrjkT;s"kq 

foHkDre~ vfLrA jkT;kuka iz/kkuk% jkT;ikyk% dF;UrsA 

jk"Vªifr% rs"kka fu;qfDra djksfrA jkT;s"kq vfi 'kklua 

dsUnzor~ efU=ifj"knk;Rra HkofrA iz/kku% ¼loksZifj½ ea=h 

^eq[;ea=h* bfr mP;rsaA 

61- LorU=kr~ iwoZa Hkkjrs izk;’k% dfr jkT;kf.k 

vklu~\ 

(A) 500 ifjferk% (B) 700 ifjferk% 
(C) 300 ifjferk% (D) 600 ifjferk% 

62- lEizfr Hkkjrs dfr jkT;kf.k lfUr\ 

(A) 20   (B) 30 
(C) 28   (D) 17 

63- vkaXykuke~ vfUre% izfrfuf/k% ;% vklhr~& 

(A) jktxksikykpk;Z (B) oYyHkHkkbZ&iVsy% 
(C) ykWMZ ekm.V cSVu% (D) tujy&Mk;j%A 

64- Hkkjrh;&lafo/kkuL; fuekZ.kdk;Za dnk lekIre\ 

(A) 1948  (B) 1950 
(C) 1951  (D) 1952 

65- jktikyL; fu;qfDra d% djksfr\ 

(A) jk"Vªifr%  (B) iz/kkueU=h 
(C) mi&jk"Vªifr% (D) eq[;ea=hA 

66- vL; x|ka’kL; 'kh"kZda Hkforqa 'kD;rs& 

(A) izkphua Hkkjre~ (B) vk/kqfuda Hkkjre~ 
(C) ijrU=a Hkkjre~ (D) HkkjrL; 'kkldk%A 

67- LorU=L; HkkjrL; izFke% jk"Vªifr% vklhr~& 

(A) JhjktsUnzizlkn% (B) Jhtokgjyky% 
(C) JhoYyHkHkkbZ&iVsy% (D) Jh’kadjn;ky%A 

68- HkkjrL; izFke% iz/kkueU=h d% fuokZfpr%\ 

(A) Jhykycgknqj 'kkL=h(B) Jhtokgjyky% 
(C) JhoYyHkHkkbZ&iVsy% (D) JhvVy&fcgkjhA 

funZs’k&¼iz’u 68 ls 75 rd½ v/kksfyf[krku~ 'yksdku~ 

ifBRok vxzs fyf[krkuka iz’ukuke~ mRrjkf.k nnkrq& 

     vkiRlq fe=a tkuh;kr~ ;q)s 'kwje~ _.ks 'kqfpe~A 

     Hkk;kZa {kh.ks"kq foRrs"kq O;lus"kq p ckU/koku~AA 

  u lk lHkk ;= u lfUr o`)k%A 

  u rs o`)k% ;s u onfUr /keZe~A 

  uklkS /keksZ ;= u lR;efLr] 

  u rr~ lR;a ;PNysukH;qisre~AA 

     pUnua 'khrya yksds pUnuknfi pUnzek%A 

     pUnzpUnu;kseZ/;s 'khryk lk/kqlaxfr%AA 

  ;L;kfLr foRra l uj% dqyhu%] 

  l if.Mr% l Jqroku~ xq.kK%A 

  l ,o oDrk l p n’kZuh;%] 

  losZ xq.kk% dkapue~ vkJ;UrsAA 

69- d% uj% dqyhu%] if.Mr%] Jqroku~] xq.kK% p 

Hkofr\ 

(A) ;L; fo|k vfLr  
(B) ;L; oDr`Roe~ vfLr 
(C) ;L; foRre~ vfLr    

(D) ;L; n’kZuh;Roe~ vfLrA 

70- losZ tuk% fde~ vkJ;Urs\ 

(A) ;kSoue~  (B) dqyhuRoe~ 
(C) xq.kKRoe~  (D) dkapue~A 

71- ^n’kZuh;%* bfr ins izd`fr&izR;;kS Lr%& 

(A) n’kZ~$vuh;j~ (B) n`’k$vuh;j~ 
(C) n’kZu$bZ;  (D) n’kZ$uh;j~A 

72- {kh.ks"kq foRrs"kq dka tkuh;kr~\ 

(A) fe=e~  (B) Hkk;kZe~ 
(C) 'kqfpe~  (D) ckU/koku~A 

73- ;s /keZa u onfUr] rs HkofUr& 

(A) lHkk% u  (B) /kekZ% u 
(C) o`)k% u  (D) 'kwjk% uA 

74- ^;PNysuklH;qisre~* vL; lfU/k&foPNsn vfLr& 

(A) ;PNys&ukH;wisre~ (B) ;PNysuk&H;qisre~ 
(C) ;PNy&bukH;qisre~ (D) ;PNysu&vH;qisre~A 

75- pUnzukr~ vfi vf/kd% 'khry% d% orZrs\ 

(A) pUnz%  (B) lw;Z% 
(C) rkjd%  (D) lk/kd% 

76- laLd`rHkk"kk;k% f’k{k.ka dFka Hkosr~ \ 

(A) la’ys"k.kkr~ iz’ys"k.ka izfr   
(B) ljykr~ dfBua izfr 
(C) dfBukr~ ljya izfr    

(D) LFkwykr~ lw{ea izfrA 
77- O;kdj.kf’k{k.kL; ;k uwruk&jhfr% orZrs& 

(A) vkxeu&jhfr%  
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(B) leokp&jhfr% 
(C) ikB~;iqLrd&jhfr%  

(D) mi;qZDrk% lokZ% iz.kkY;% 
78- laLd`r&f’k{k.kL; izkphuk&iz.kkyh vfLr& 

(A) izR;{kfof/k%   
(B) ikB~;iqLrd fof/k% 
(C) ikB’kkykfofn%  

(D) mi;qZDrk lokZ% iz.kkY;%A 
79- d{kkfHku;&jhrkS ;k izfØ;k Hkofr] lk& 

(A) ckydk% ukVdik=k.kke~ vfHku;a dqoZfUr  
(B) f’k{kdL; dk;ZHkkjL; U;wurk 
(C) f’k{kd% dFkk;k% ik=kuqlkja O;k[;ka djksfr 

(D) mi;qZDra ykHk=;e~ ,oA 
80- laLd`rHkk"kk;k% f’k{k.ks izFkea Hkk"kk&dkS’kye~ vfLr& 

(A) Hkk"k.ke~  (B) ys[kue~ 
(C) Jo.ke~  (D) IkBue~A 

81- ^f’k{k.ke~* bfr inL; ;% vFkZ% vfLr& 

(A) ykyue~  (B) izsj.ke~ 
(C) cks/kue~  (D) KkuL; ifjØ;.ke~A 

82- laLd`r&Hkk"kk&f’k{k.kL; ;r~ izFkee~ mn~ns’;a 

Hkofr& 

(A) lkaLd`frde~  (B) xzg.kkRedRoe~ 
(C) dykRedRoe~ (D) vfHkO;fDrRoe~A 

83- ;nk Nk=% d{kk;ka x`gdk;Za u d`Rok vkxPNfr] 

rnk f’k{kds.k fda drZO;e~ vfLr\ 

(A) rL; dkj.ka Kkrqa iz;kl% drZO;%   
(B) Nk=a n.Ma nRRok x`ga izs"k;rq 
(C) iz/kkuk/;kida izs"k.kh;%   

(D) u fdefi dj.kh;e~A 
84- d{kkuk;djhrs% ;% ykHk orZrs] l% vfLr& 

(A) Nk=k.kke~ vuq’kklu&ykHk%   
(B) f’k{kdL; dk;ZHkkjL; U;wurk 
(C) v/;kidL; vuqifLFkrkS vfi f’k{k.kdk;Ze~  

(D) mi;qZDra ykHk=;e~ ,oA 
85- dk jhfr% orZrs] ;L;ka Nk=k% fp=a n`"V~ok 

iz’ukuke~ mRrjkf.k fy[kfUr\ 

(A) fuxeujhfr% (B) iz’uksRrjjhfr% 
(C) fp=jhfr%  (D) lw=jhfr%A 

86- Hkk"kk;k% f’k{k.ks ;% dsUnza Hkofr& 

(A) iqLrde~  (B) ckyd% 
(C) ';keiê%  (D) v/;kid%A 

87- O;kdj.kf’k{k.kL; ;r~ mn~ns’;a orZrs] rr~ vfLr& 

(A) ys[ku&lkSUn;Ze~  
(B) Hkk"kk&nks"kk.kka Kkue~ 
(C) Jo.ks n{kRoe~  

(D) 'kCnHk.MkjL; o`f)%A 

88- laLd`rHkk"kk;k% f’k{k.ks ekSf[kdkfHkO;Drs% ;r~ lk/kua 

orZrs& 

(A) ppkZ&ifjppkZ  
(B) dFkkdFkue~ 
(C) dfork;k% ikBdj.ke~  

(D) mi;qZDrkfu lokZf.kA 
89- Hkk"kk;k% iBule;a psr~ Nk=% v’kq)e~ mPpkj.ka 

djksfr] rnk dkj.kh;%& 

(A) Nk=e~ 'kq)ksPpkj.kk; funsZ’k% nkrO;%   
(B) 'kq)ksPpkj.kk; okja okja ys[kue~ dkj.kh;e~ 
(C) 'kq)ksPpkj.kk; okja okja vH;kl% dkj.kh;%  

(D) mfpra n.Ma nkrO;e~A 
90- f'k{kk;k% d`rs lekts vkSipkfjda lk/kua ;r~ 

orZrs& 

(A) lekpkji=e~ (B) x`ge~ 
(C) pyfp=e~  (D) fo|ky;%A 
 

 

 

 

 

  



 

 

14 

 

 

MATHEMATICS 
91. ................values are not related to 

mathematics. 

(A) Social  (B) Medical  

(C) Disciplinary (D) Cultural 

92. The mathematics used by illiterate 

shopkeeper- 

(A) is very useful in solving all 

mathematical problems.   

(B) has ambiguity and very low level 

of correctness in it 

(C) Should be discussed by the 

teachers in classrooms as an 

alternate strategy in solving 

related problems     

(D) is not useful in the mathematics 

classroom. 

93. The method based on scientific 

Approach is - 

(A) Inductive (B) Speech 

(C) Project  (D) Group work 
94. Remedial teaching is helpful for - 

(A) Recapitualating the lesson   

(B) teaching in play –way method 

(C) removing learning difficulties of 

weak students    

(D) teaching the whole class 

95. Which method makes remediation ? 

(A) Lecture method  (B) Source method 

(C) Supervised study(D) Question-answer 

96. Which of the following should formative 

assessment ensure ? 

(A) Objectivity  (B) Credibility 

(C) Relevance (D) All of the above 

97. Which of them is not a step of five E's 

model ? 

(A) Examination (B) Engage 

(C) Explore  (D) Explain 

98. Which is the fourth step of 'five E model 

? 

(A) Engage  (B) Explore 

(C) Explain  (D) Elaborate 

99. Project method is based on the philosophy 

of- 

(A) Idealism  (B) Naturalism 

(C) Realism  (D) Pragmatism. 

xf.kr 

91- -------------- ewY; xf.kr ls lacaf/kr ugha gSa 

(A) lkekftd  (B) fpfdRldh; 
(C) vuq'kklukRed (D) lkaLd`frd 

92- vf'kf{kr nqdkunkj }kjk mi;ksx fd, tkus okyk 

xf.kr& 

(A) lHkh xf.krh; leL;kvksa dks gy djus esa 

cgqr mi;ksxh gS    

(B) esa vLi"Vrk vkSj cgqr de Lrj dh 'kq)rk 

gS 

(C) dh lacaf/kr leL;kvksa dks gy djus esa 

oSdfYid j.kuhfr ds :i esa d{kkvksa esa 

f'k{kdksa }kjk ppkZ dh tkuh pkfg,A  

(D) xf.kr d{kk esa mi;ksxh ugha gS 

93- oSKkfud i)fr ij vk/kkfjr fof/k gS& 

(A) izsjd  (B) O;k[;ku 

(C) ifj;kstuk  (D) lewg dk;Z 
94- mipkjkRed f'k{k.k lgk;d gS& 

(A) ikB dh iqujko`fÙk ds fy,     

(B) [ksy&ekxZ fof/k }kjk f'k{k.k ds fy, 

(C) detksj Nk=ksa dh lh[kus dh dfBukbZ;ksa dks nwj 

djus ds fy,     

(D) iwjh d{kk dks i<+kus ds fy, 

95- dkSu lh i)fr iqu% lq/kkj djrh gS\ 

(A) O;k[;ku fof/k (B) L=ksr fof/k 

(C) fuxjkuh ds rgr v/;;u(D) loky tokc 

96- fuEufyf[kr esa ls dkSu&lk vkSipkfjd ewY;kadu 

lqfuf'pr djrk gS\ 

(A) fu"i{krk  (B) fo'oluh;rk 

(C) izklafxdrk  (D) mijksDr lHkh 

97- buesa ls dkSulk ^ik¡p bZ* ds ekWMy dk ,d pj.k 

ugha gS\ 

(A) ijh{kk  (B) O;Lrrk 

(C) vUos"k.k  (D) O;k[;k 

98- ^ik¡p bZ* ekWMy dk pkSFkk pj.k dkSulk gS\ 

(A) O;Lrrk  (B) vUos"k.k 

(C) O;k[;k  (D) foLr`r 

99- ifj;kstuk fof/k fuEu esa ls fdlds rRoKku ij 

vk/kkfjr gS\ 

(A) vkn'kZokn  (B) izd`frokn 

(C) ;FkkFkZokn  (D) O;ogkjokn 
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100. Which of the following is considered as a 

characteristic of an effective mathematics 

classrom ? 

(A) Group work and group problem- 

solving is discouraged.     

(B) It is emphasized that mathematics is 

essentially a concrete subject. 

(C) Multiple ways of approaching a 

problem are encouraged   

(D  Steps for solving a new problem are 

neatly demonstrated on the board by 

the teacher. 

101. The Part of Commercial Mathematics is : 

(A) Calculation of numorical     

(B) Addition and subtraction 

(C) Solving the equations    

(D  Audit of bank working system. 
102. The functioning process of evaluation is: 

(A) Marking          (B)Decision making 

(C) Errorfinding (D All of these 

103. The highest importance of mathema-

tics teaching at upper primary level is.  

(A) Physical  (B)Mental 

(C) Behavioural (D Spiritual 

104. The flaw of present time syllabus is: 

(A) Stress on bookish knowledge    

(B) Lack of subjects intercorrelation 

(C) Absence of flexibility   

(D  All of these 

105. Which of the following is logic-based 

method ? 

(A) Discovery method     

(B) Induction method 

(C) Lecture method    

(D  Analytical method 

106. 100÷0 = ? 

(A) 0           (B)100 

(C) 1          (D Can not be solved 

107. Find the greatest possible length which 

can be used to measure exactly the 

length 11m, 4m 30cm, 5m 40cm. 

(A) 15cm.(B)25cm.(C) 5 cm.(D 10 cm. 

108. Given, Building A is 50% larger than 

Building C and Building B is 25% 

larger than Building C, then Building 

A is what percent larger the Building B. 

(A) 25%   (B) 50%  (C) 10%   (D 20% 

100- Xkf.krh; d{kk d{k dks izHkkoh cukus ds fy, 

fuEufyf[kr esa ls D;k izHkkoh gS\ 

(A)  lewg esa dk;Z vkSj lewg esa leL;k 

lqy>kus dks grksRlkfgr djuk pkfg,  

(B)  egRo fn;k tkuk pkfg, fd vfuok;Z :i 

ls xf.kr ,d ewrZ fo"k; gSA 

(C) ,d iz'u dks gy djus ds fy, fofHkUu 

rjhdksa dks izksRlkfgr djuk pkfg,A   

(D) v/;kid }kjk ,d ubZ leL;k dks gy 

djus ds pj.kksa dks dq'kyrk ls cksMZ ij 

fu:fir djuk pkfg,A 

101- okf.kfT;d xf.kr dk Hkkx gS%  
(A) la[;kvksa dk fglkc yxkuk    

(B) tksM+ o ckdh djuk 

(C) lehdj.kksa dks gy djuk    

(D) cSadksa dh dk;Z&iz.kkyh dh tk¡p djuk 

102- ewY;kadu dh dk;Zlwpd fØ;k gS% 
(A) fpfUgr djuk (B) fu.kZ; ysuk 

(C) Hkwy [kkstuk  (D) ;s lHkh 

103- mPp izkFkfed Lrj ij xf.kr f'k{k.k dk 

lokZf/kd egRo fdl :i esa gS\ 

(A) HkkSfrd  (B) ekufld 

(C) O;kogkfjd  (D) vk/;kfRed 

104- orZeku ikB~;Øe dk nks"k gS% 
(A) iqLrdh; Kku ij cy    

(B) fo"k;ksa esa lglEcU/k dk vHkko 

(C) yphysiu dk vHkko  (D) ;s lHkh 

105- fuEu esa ls rdZ iz/kku fof/k gSA 
(A) [kkst fof/k  (B) vkxeu fof/k 

(C) O;k[;ku fof/k (D) fo'ys"k.k fof/k 

106- 100÷0 = ? 

(A) 0   (B) 100 

(C) 1  (D) gy ugha fd;k tk ldrk 

107- lcls cM+h laHko yackbZ Kkr dhft, ftldk mi;ksx 
yackbZ 11 ehVj] 4 ehVj 30 lseh] 4 ehVj 40 

lseh dks iw.kZr% ekius ds fy, fd;k tk ldrk gSA 

(A) 15 lseh(B) 25 lseh(C) 5 lseh(D) 10 lseh 

108- fcfYMax A fcfYMax C ls 50% cM+h gS vkSj 

fcfYMax B fcfYMax C ls 25% cM+h gS] rks fcfYMax 

A fcfYMax B ls fdrus izfr'kr cM+h gS\ 

(A) 25%   (B) 50%    (C) 10%  (D) 20% 
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109. If the cost of 5 pencils is Rs. 3
3

4
 Then 

the cost of 2 pencils is - 

(A) Rs. 
3

4
 (B) Rs. 

3

2
(C) Rs. 

4

3
(D Rs. 

2

3
 

110. The prime factorization of number 720 is- 

(A) 2x2x3x3x2x5  (B) 2x3x4x5x6 

(C) 3x3x4x4x5 (D 2x2x2x2x3x3x5 

111. A hotel requires 91 bottles of oil far a 

week. Find the cost of il it will require 

for 58 days if one bottle costs Rs. 98  

(A) Rs. 72,384 (B) Rs. 75,460 

(C) Rs. 75,400 (D Rs. 73,892 

112. If AB is parallel to CD, then find the 

valve of P 

 
(A) 930  (B) 570   (C) 870   (D) 1230 

113. Ram purchased 5 gross pens from a 

shop. Find that how many pens he 

purchased ? 

(A) 720  (B)700   (C) 750    (D 500 

114. In how many years interest of Rs. 3000 

will be Rs. 1080 at the simple interest 

rate of 12% annually ? 

(A) 3 years    (B) 2.5 years 

(C) 2 years  (D 3.5 years 

115. The sum of length of 2 sides of a 

triangle is always - 

(A) less than third side    

(B) greater than third side 

(C) equal to third side    

(D  
2

3
 of third side 

116. The diagonal of arectangle field is 17m 

and its perimeter is 46m.what is the 

area of the field ? 

(A) 112 𝑚2   (B) 120 𝑚2 

(C) 132 𝑚2  (D)  289 𝑚2 

117. 4 - (2 − 9)0 + 32 + 1 + 3 = ? 

(A) 17       (B) 16      

(C) 15        (D)  12 

109- ;fn 5 isfUlyksa dk ewY; 3
3

4
 :- gS] rks 2 isfUlyksa 

dk ewY; gksxk & 

(A) Rs. 
3

4
  (B) Rs. 

3

2
 (C) Rs. 

4

3
 (D Rs. 

2

3
 

110- la[;k 720 ds vHkkT; xq.ku[k.M gSa& 

(A) 2x2x3x3x2x5  (B) 2x3x4x5x6 

(C) 3x3x4x4x5 (D 2x2x2x2x3x3x5 

111- ,d gksVy dks ,d lIrkg esa 91 cksry rsy dh 
vko';drk gksrh gSA ;fn ,d cksry dh ykxr 98 

#i;s gS] rks 58 fnuksa ds fy, vko';d rsy dh 

ykxr Kkr djsaA 

(A) Rs. 72,384 (B) Rs. 75,460 

(C) Rs. 75,400 (D Rs. 73,892 

112- ;fn AB, CD ds lekukarj gS] rks P dk eku 

fdruk gS\ 

 

(A) 930  (B) 570    (C) 870   (D) 1230 

113- jke us ,d nqdku ls 5 xzkWl dye [kjhnhaA irk 
yxkb,] mlus dqy fdruh dyesa [kjhnha \ 

(A) 720  (B) 700    (C) 750 (D) 500 

114- fdrus o"kksZ esa 12% okf"kZd C;kt dh nj ls #- 

3000 dk lk/kkj.k C;kt #- 1080 gks tk,xk \ 

(A) 3 lky   (B) 2-5 lky 

(C) 2 lky  (D) 3-5 lky 

115- fdlh f=Hkqt esa nks Hkqtkvksa dh yEckbZ dk ;ksx lnSo 

gksxk & 

(A) rhljh Hkqtk ls NksVk    

(B) rhljh Hkqtk ls cM+k 

(C) rhljh Hkqtk ds cjkcj    

(D) rhljh Hkqtk dk 
2

3
 

116- fdlh vk;rkdkj [ksr dk fod.kZ 17 eh rFkk 

ifjeki 46 eh- gS] rks bl [ksr dk {ks=Qy D;k 

gksxk \ 

(A) 112 𝑚2   (B) 120 𝑚2 

(C) 132 𝑚2  (D  289 𝑚2 

117- 4 - (2 − 9)0 + 32 + 1 + 3 = ? 

(A) 17   (B) 16       (C) 15  (D)  12 
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118. Which of the fraction is least ? 

(A) 
24

25
  (B) 

10

11
      (C) 

99

100
  (D)  

68

69
 

119. (256)0.16 x (16)0.18  = ? 

(A) 4   (B) 16      (C) 64      (D)  256.16 

120. The least number which is a perfect 

square and is also divisible by 10, 12, 

15 and 18 is - 

(A) 3600    (B) 2500 

(C) 1600  (D  900 
 

i;kZoj.k v/;;u (EVS) 
121. Which of the following is correct with 

respect to EVS teaching and learning 

process ? 

(A) Teaching social, emotional and 

attitudinal volues in a separate 

curricu-lum.     

(B) Teaching social, emotional and 

attitudinal values in an integrated 

manner with providing knowle-

dge. 

(C) Emotional and attitudinal values 

cannot be taught in EVS curricu-

lum.  

(D) Social values cannot be taught in 

EVS curriculum. 
122. Which of the following is not a resource 

for EVS teaching – learning process? 

(A) Parents   (B) Worksheets 

(C) Newspaper (D) None 

123. How can teachers nurture natural 

curiosity and ooativity among students ? 

(A) Museums visit (B) Park visit 

(C) Interaction with plants and anials  

(D) All of the above 

124. Among the cognitive domain, which one 

judges the value of a product for a given 

purpose using definition criteria ? 

(A) Analysis   (B) Synthesis 

(C) Evaluation (D) Application 

125. The objective, to engage the child in 

exploratory and hands on actinity is to 

acquire. 

(A) Knowledge     

(B) Cognitive and psychomotor skills 

(C) Understanding (D) All of the above 

118- fuEu esa ls dkSu&lh fHkUu lcls NksVh gS\ 

(A) 
24

25
       (B) 

10

11
       (C) 

99

100
 (D)  

68

69
 

119- (256)0.16 x (16)0.18  = ? 

(A) 4   (B) 16      (C) 64 (D)  256.16 

120- og NksVh ls NksVh la[;k dkSu lh gS tks iw.kZ oxZ gks 
rFkk 10] 12] 15] 18 ls Hkh foHkkT; gks \ 

(A) 3600  (B) 2500 

(C) 1600   (D) 900 

i;kZoj.k v/;;u (EVS) 
 

121- bZ-oh-,l-f'k{k.k vkSj vf/kxe dh izfØ;k ds laca/k 

esa fuEufyf[kr esa ls dkSu lk lgh gS\ 

(A) ,d vyx ikB~;Øe ls lkekftd] HkkoukRed 

vkSj O;kogkfjd ewY;ksa dks fl[kkuk   

(B) Kku iznku djus ds lkFk ,dhd`r rjhds ls 

lkekftd] HkkoukRed vkSj O;ogkfjd ewY;ksa 

dks fl[kuk  

(C)  HkkoukRed vkSj O;ogkfjd ewY;ksa dks bZ-oh-

,l- ikB~;Øe esa ugha i<+k;k tk ldrkA  

(D) lkekftd ewY;ksa dks bZ-oh-,l- Kku ds lkFk 

ugha fl[kk;k tk ldrk gSA  

122- fuEufyf[kr esa ls dkSu bZ-oh-,l- f'k{k.k vf/kxe 

izfØ;k dk lalk/ku ugha gS\ 

(A) ekrk&firk  (B) dk;Zi=d 

(C) v[kckj  (D) dksbZ ugha 

123- f'k{kd Nk=ksa esa izkd`frd ftKklk vkSj jpukRedrk 

dk iks"k.k dSls dj ldrs gSa\ 

(A) laxzgky; dh ;k=k (B) ikdZ dh ;k=k 

(C) ikS/kksa vkSj tkuojksa ds lkFk lgHkkfxrk   

(D) mijksDr lHkh 

124- laKkukRed {ks= esa] dkSu lk fdlh lk fdlh fn, 
x, mís'; ds fy, ifjHkk"kk ekunaMksa dk mi;ksx 

djds mRikn ds ewY; dk fu/kkZj.k djrk gS\ 

(A) fo'ys"k.k   (B) la'ys"k.k 

(C) ewY;kadu  (D) vkosnu 

125- mís';] cPpksa dks vUos"k.k rFkk izk;ksfxd xfrfof/k esa 

layXu djus ds fy, -------------dk vf/kxzg.k 

djuk vko';d gSA 

(A) Kku 

(B) laKkukRed vkSj euksoSKkfud dkS'ky 

(C) le>    

(D) mi;qZDr lHkh 
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126. You are a teacher of 4
th

 class and you 

have to teach a topic "travel" how you 

introduce this topic infront of children ? 

(A) Just write travel on the blackboard   

(B) Ask the students about their 

experience of bavelling and then 

inlroduce the topic 

(C) By showing documentary film.  

(D) From the textbook. 

127. What is the reason behind to take 

'community' is an important learning 

resource ? 

(A) It is an easily available resource.   

(B) It comparises the elderly and 

experienced people 

(C) It is avery inexpensive resources.  

(D) It provide the learning opportuni-

ties in real setting 

128. Syllabus of EVS has been divided 

into.............themes to inculate every as 

pect of learning which are considered 

in portant for child of primary level. 

(A) 2      (B) 4    (C) 5 (D) 6 
129. The language used in an EVS text book. 

(A) Should be technical and formal     

(B) Should be related to everyday 

language of the child. 

(C) Should be harsh and difficult for 

children to lom prehend    

(D) Should be formalized with 

emphasis on definitions. 

130. In environmental education which 

teaching method is related to group 

discussion ? 

(A) Roleplay (B) Lecture 

(C) Narration (D) Symposiun 

131. 'Catch water where it falls' is the basic 

idea of  

(A) water irrigation system     

(B) Rain water harvesting 

(C) Water conservations Programmes  

(D) None of the above 

132. Which of the following is not a fair of 

Madhya Pradesh ? 

(A) Sinhastha fair (B) Bhumia fair 

(C) Nagaji fair (D) Camel fair 

126- vki pkSFkh d{kk ds f'k{kd gSa vkSj vkidks ,d 

fo"k; ^^;k=k** ds ckjs esa i<+kuk gS vki bl fo"k; 

dks cPpksa ds lkeus dSls is'k djsaxs \ 

(A) CySdcksMZ ij dsoy ;k=k fy[kdj   

(B) Nk=ksa ls mudh ;k=k ds vuqHko ds ckjs eas tkusa 

vkSj fQj fo"k; dks is'k djsa 

(C) o`Ùkfp= fQYe fn[kkdj    

(D) ikB~;iqLrd ls 

127- ^leqnk; dks egRoiw.kZ f'k{k.k lalk/ku ds :i esa  
(A) ;g vklkuh ls miyC/k lalk/ku gS   

(B) blls cqtqxZ vkSj vuqHkoh yksx 'kkfey gSa 

(C) ;g ,d cgqr gh lLrk lalk/ku   

(D) ;g okLrfod O;oLFkk esa lh[kus ds volj 

iznku djrk gSA  

128- bZ-ch-,l ds ikB~;Øe dks ---------- fo"k;ksa esa 

foHkkftr fd;k x;k gS] tks vf/kxe ds izR;sd igyw 

dks fodflr djus ds fy, vko';d gSa] ftUgsa 

izkFkfed Lrj ds cPps ds fy, egRoiw.kZ ekuk tkrk 

gSA  

(A) 2   (B) 4      

(C) 5   (D) 6 

129- i;kZoj.k v/;;u dh ikB~;&iqLrd esa iz;qDr Hkk"kk% 

(A) rduhdh vkSj vkSipkfjd gksuh pkfg,   

(B) cPps dh fnu&izfrfnu dh Hkk"kk ls laca) gksuh 

pkfg, 

(C) :[kh vkSj cPpksa }kjk le>us esa dfBu gksuh 

pkfg,    

(D) ifjHkk"kkvksa ij cy nsrs gq, vkSipkfjd gksuh 

pkfg,A  

130- i;kZoj.k f'k{kk esa lkewfgd ppkZ ls lacaf/kr f'k{k.k 
fof/k dkSu lh gS\ 

(A) Hkwfedk fuokZg  (B) O;k[;ku 

(C) o.kZu   (D) fopkj&xks"Bh 

131- ^ty dks mlds fxjus ds LFkku ij ,d= djks* ;g 
ewyHkwr fopkj gS& 

(A) ty flapkbZ ra=    

(B) o"kkZ ty laxzgj.k 

(C) ty laj{k.k dk;ZØe    

(D) mijksDr esa ls dksbZ ugha 

132- fuEufyf[kr esa ls dkSu lk esyk e/; izns'k esa ugha 
yxrk gS\ 

(A) flagLFk esyk  (B) Hkwfe;k esyk 

(C) ukxkth dk esyk (D) Å¡V esyk 
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133. Folk Dance 'Matki' is famous in which 

region of Madhya Pradesh ? 

(A) Malwa    (B) Bundel khand 

(C) Nimar  (D) Mahakoshal 

134. The Golden Quadrilateral Super high-

ways does not connect which of the 

following city ? 

(A) Hyderabad (B) Chennai 

(C) Delhi  (D) Kolkata 

135. What is the percentage of classified 

forest in Madhya Pradesh ? 

(A) 32%    (B) 42% 

(C) 38.72%  (D) 30.72% 

136. Which of the following tree is in 

portant in the region of central Indian 

Peninsula ? 

(A) Teak    (B) Sal 

(C) Bamboo  (D) Babul 

137. What is the name of the first manned 

spaceship ? 

(A) Freedom 7  (B) Vostok 1 

(C) A pollo  (D) Gemini 

138. We canget maximum protein from....... 

(A) Chapati   (B) Soyabean 

(C) Carrot  (D) None of these. 

139. The ultimate source of energy on earth 

is ............ 

(A) Wind   (B) Sun 

(C) Plants  (D) Animals 

140. Which of the following birds do not 

build a nest of its own ? 

(A) Crow    (B) Koel 

(C) Sparrow  (D) Bulbul 

141. In photosynthesis which gas is 

absarbed by plants from the at 

mosphere ? 

(A) Oxygen   (B) Nitrogen 

(C) Carbon diaxide(D) Water vapour 

142. Insectivorous plants grow in soil which 

is deficient in........... 

(A) Nitrogen (B) Carbon 

(C) Sulphur  (D) Potassium 

143. Natural resources in dudes- 

(A) Water   (B) Minerals 

(C) Wood   

(D) All of the above 

133- yksd u`R; ^eVdh* e/; izns'k ds fdl {ks= esa 

izfl) gS\ 

(A) ekyok  (B) cqansy[kaM 

(C) fuekM+  (D) egkdkS'ky 

134- Lof.kZe prqHkqZt lqij jktekxZ fuEufyf[kr esa ls 

fdl 'kgj ls ugha tqM+k gS\ 

(A) gSnjkckn  (B) psUubZ 

(C) fnYyh   (D) dksydkrk 

135- e/;izns'k esa oxhZd`r ou dk izfr'kr fdruk gS\ 
(A) 32%    (B) 42% 

(C) 38.72%  (D 30.72% 

136- e/; Hkkjrh; izk;}hi ds {ks= esa fuEufyf[kr esa ls 
dkSu lk isM+ egRoiw.kZ gS\ 

(A) Vhd   (B) lky 

(C) ckal   (D) ccwy 

137- igys ekuo;qDr varfj{k ;ku dk uke D;k gS\ 

(A) ÝhMe 7  (B) oksLrksd 1 

(C) viksyks  (D) feFkqu 

138- ge vf/kdre izksVhu ------------- ls izkIr dj 

ldrs gSA 

(A) pikrh  (B) lks;kchu 

(C) xktj   (D) buesa ls dksbZ ugha 

139- i`Foh ij ÅtkZ dk eq[; L=ksr-------------gSA 

(A) iou   (B) lw;Z 

(C) ikS/ks   (D) i'kq 

140- fuEu esa ls dkSu lk i{kh viuk [kqn dk ?kksalyk 

ugha cukrk gS\ 

(A) dkSvk   (B) dks;y 

(C) xkSjSvk  (D) cqycqy 

141- izdk'k la'ys"k.k esa dkSu lh xSl ikS/kksa }kjk 

okrkoj.k ls vo'kksf"kr gks tkrh gS\ 

(A) vkWDlhtu  (B) ukbVªkstu 

(C) dkcZu MkbvkWDlkbM  

(D) tyok"i 

142- dhVuk'kd ikS/ks ml e`nk esa c<+rs gSa ftlesa--------- 
dh deh gksrh gSA 

(A) ukbZVªkstu  (B) dkcZu 

(C) lYQj   

(D) iksVsf'k;e 

143- izkd`frd lalk/kuksa esa 'kkfey gS& 
(A) ty     

(B) [kfut inkFkZ 

(C) ydM+h  (D) mijksDr lHkh  
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144. Which of the following is not a protein 

rich diet ? 

(A) Cheese    (B) Pulses 

(C) Pure Ghee (D) Meat 

145. Which among the following is of Non- 

Indian origin ? 

(A) Mango    (B) Banana 

(C) Coconut  (D) Strawberry. 

146. Tsunami is caused by which reason ? 

(A) A very warm ocean current    

(B) A large bank of fish 

(C) a melting glacier    

(D) an earthquake under the ocean. 

147. Biotic environment includes - 

(A) Producers (B) Cosumers 

(C) Decomposers (D) All of these 

148. Where is konark temple located ? 

(A) Rajasthan       (B) Madhya Pradesh 

(C) Orissa  (D) Tamil Nadu 

149. Accordingto 2011 census the density 

of population in India is. 

(A) 382    (B) 324 

(C) 421  (D) 518 

150. Where is Dachigram National Park 

situated ? 

(A) Tamil nadu (B) Assam 

(C) Jammu-Kashmir(D) Bihar 

 

144- fuEu esa ls dkSu lk izksVhu le`) vkgkj ugha gS\ 

(A) iuhj   (B) nygu 

(C)  'kq) ?kh  (D) ekal ¼ehV½ 

145- fuEu esa ls dkSu lk Hkkjrh; ewy dk ugha gS\ 
(A) vke   (B) dsyk 

(C) ukfj;y  (D) LVªkWcsjh 

146- lqukeh vkus dk D;k dkj.k gksrk gS\ 

(A) ,d cgqr xeZ egklkxj /kkjk    

(B) eNfy;ksa dk ,d cM+k rV 

(C) ,d fi?kyrk gqvk Xysf'k;j    

(D) leqnz ds uhps ,d Hkwdai  

147- tSfod okrkoj.k esa D;k 'kkfey gS\ 
(A) mRiknd  (B) miHkksDrk 

(C) fMdEikstlZ  (D) ;s lHkh 

148- dks.kkdZ eafnj dgk¡ fLFkr gS\ 
(A) jktLFkku  (B) e/; izns'k 

(C) vksfM'kk  (D) rfeyukMq 

149- 2011 tux.kuk ds vuqlkj Hkkjr esa tula[;k 

?kuRo gS& 

(A) 382   (B) 324 

(C) 421   (D) 518 

150- nkphxzke jk"Vªh; m|ku dgk¡ fLFkr gS\ 
(A) rfeyukMq  (B) vle 

(C) tEew&d'ehj  (D) fcgkj 
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                     MPTET ANSWERS             Date – 09/01/2022 

1 D 21 B 41 B 61 C 81 A 101 D 121 B 141 C 

2 B 22 B 42 D 62 A 82 A 102 D 122 D 142 A 

3 C 23 A 43 C 63 A 83 D 103 B 123 D 143 D 

4 A 24 B 44 D 64 C 84 B 104 D 124 C 144 C 

5 A 25 C 45 B 65 A 85 D 105 B 125 B 145 D 

6 B 26 C 46 C 66 D 86 A 106 D 126 B 146 D 

7 B 27 A 47 B 67 A 87 D 107 D 127 D 147 D 

8 A 28 C 48 D 68 A 88 B 108 D 128 D 148 C 

9 C 29 B 49 C 69 B 89 B 109 B 129 B 149 A 

10 A 30 A 50 A 70 B 90 D 110 D 130 D 150 C 

11 C 31 B 51 D 71 A 91 B 111 D 131 B   

12 A 32 C 52 B 72 D 92 C 112 A 132 D   

13 B 33 B 53 D 73 B 93 C 113 A 133 A   

14 D 34 D 54 B 74 C 94 C 114 A 134 A   

15 B 35 A 55 A 75 D 95 C 115 B 135 D   

16 D 36 C 56 D 76 A 96 D 116 B 136 B   

17 C 37 B 57 C 77 A 97 A 117 B 137 B   

18 C 38 B 58 C 78 A 98 D 118 B 138 B   

19 A 39 C 59 B 79 C 99 D 119 A 139 B   

20 C 40 D 60 A 80 A 100 C 120 D 140 B   

Hkkx&2 ¼laLd`r½ 

61 D 66 D 71 B 76 B 81 C 86 A 

62 C 67 A 72 B 77 C 82 A 87 B 

63 C 68 B 73 C 78 C 83 A 88 D 

64 B 69 C 74 D 79 C 84 A 89 C 

65 A 70 D 75 A 80 D 85 C 90 D 
  


